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QUESTION 1

Assume that a versioned repository item in your application is not changed on the store serves hut is only changed on
the CA Server and published to the store server.

Which caching mechanism should you choose for it on the store server?

A. any of the CA-aware caching modes such as locked, distributed, or hybrid

B. Locked Caching

C. Immutable Item Caching

D. Simple Caching

E. No caching is necessary. Database will cache the Items as they do not change on the server.

Correct Answer: A

QUESTION 2

Which three pricing engines use the Qualifier class to determine the objects to which it should a discount?
A. ItemPricingEngine

B. DiscountPricingEngine

C. OrderPricingEngine

D. PromotionEngine

E. ShippingPricingEngine

Correct Answer: ACE

ATG Commerce provides the following four extensions of the main PricingEngine interface:
*

(A) atg.commerce.pricing.ltemPricingEngine

Provides a price for atg.commerce.order.Commerceltem objects.

*

(C) atg.commerce.pricing.OrderPricingEngine

Provides a price for atg.commerce.order.Order objects.

*
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(E) atg.commerce.pricing.ShippingPricingEngine

Provides a price for atg.commerce.order.ShippingGroup objects.
*

atg.commerce.pricing. TaxPricingEngine

Determines tax for atg.commerce.order.Order objects.

QUESTION 3

Which three query types are NOT supported by the SQL repository?
A. includesAll

B. elementAt

C. indexOf

D. starts with

E. ignorecase

Correct Answer: ABC

The SQL repository does not support queries of the following types:

includesAll elementAt indexOf

QUESTION 4

In order to ensure versioning integrity, a deploying project obtains exclusive locks on its assets when deployment starts.
What is the effect of these locks?

A. Until a project\\'s asset looks are released, other projects that share those assets cannot add the asset to the project.

B. Until a project\\'s asset locks are released, other projects that share those assets cannot he in author mode and are
shown as locked in the BCC UL.

C. Until a project\\'s asset locks are released, other projects that share those Assets cannot deploy.

D. Itis a database lock and has no effect on the Ul. Other projects will net a concurrent update exception it a database
save is issued for the shared assets.

Correct Answer: C
In order to ensure versioning integrity, a deploying project obtains exclusive locks on its assets when deployment starts.

It releases those locks only after deployment is complete and project assets are checked in, or when the deployment is
reverted. Until a project\\'s asset locks are released, other projects that share those assets cannot deploy.
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QUESTION 5

What is the result if additem on the repository is never called after createltem call?
A. The item is not persisted in database.

B. It is saved automatically when transaction commits.

C. The item is saved when the server shuts down.

D. ltis illegal and an exception is thrown.

Correct Answer: A

Createltem returns a new item populated with the supplied id. The new item is not added to the repository; addltem
must be called in order to change the repository.
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